WPBA Blue 12/16/2020 Week 13

*Dropped Players highlighted in Blue

1800-Cue-Club Week 10 Not Handed In

	<u>Pts</u>	<u>Wks</u>	<u>Avg</u>	TR's	8ball	Games Played	Games Won	Games Lost	% Games Won
Jeremiah Mindiola	197	12	4.10	5		48	41	7	85%
Tamorah Kaiser	88	11	2.00			44	23	21	52%
Bruce Geiger	118	10	2.95	1		40	27	13	68%
Don Price	127	10	3.18		2	40	30	10	75%
Jeff Hellman	55	4	3.44			16	14	2	88%
Patricia Hellman	9	1	2.25			4	2	2	50%
Team	594		3.09	•	5	192	137	55	71%

Hannon's Rossi

		<u>Pts</u>	<u>Wks</u>	<u>Avg</u>	TR's	8ball	Games Played	Games Won	Games Lost	% Games Won
Tony Rossi		113	13	2.17			52	21	31	40%
C.J. Porter		6	6	0.25			24	3	21	13%
Sandie Chaney		33	9	0.92			36	9	27	25%
Carolyn Marine		8	6	0.33			24	3	21	13%
Ricky Lopez		89	8	2.78	1		32	21	11	66%
Rosie Strauss		26	8	0.81			32	8	24	25%
Todd Wolf		17	4	1.06			16	5	11	31%
	Team	292		1.35			216	70	146	32%

Sporties Scrima

	Pts	Wks	Avg	TR's	8ball	Games Played	Games Won	Games Lost	% Games Won
Jeff Scrima	107	10	2.68			40	26	14	65%
Justin Pugh	74	9	2.06			36	19	17	53%
Joe Scrima									
David Scrima									
Pat Belanger	25	2	3.13			8	6	2	75%
Kevin Burhiyame	107	10	2.68	2		40	24	16	60%
Jerry Anderson	48	4	3.00	1		16	10	6	63%
Jeff Hass	140	12	2.92			48	32	16	67%
Tom Muller	79	5	3.95	2		20	15	5	75%
Team	580		2.79			208	132	76	63%

Salty Toad Rack Runners

						Games	Games	Games	% Games
	<u>Pts</u>	Wks	<u>Avg</u>	TR's	8ball	<u>Played</u>	Won	Lost	Won
Bill Hangartner	39	7	1.39			28	11	17	39%
Bob Ridel	40	9	1.11			36	13	23	36%
Danny Llanas	64	8	2.00			32	17	15	53%
Jerry Gazinskil	118	11	2.68		1	44	29	15	66%
Tony Monreal	98	12	2.04			48	28	20	58%
Fernando Escobedo	9	1	2.25			4	3	1	75%
Dick Thome	41	4	2.56		1	16	13	3	81%
Team	409		1.97			208	114	94	55%

Backstreet Miguel's

						Games	Games	Games	% Games
	<u>Pts</u>	Wks	<u>Avg</u>	TR's	8ball	<u>Played</u>	<u>Won</u>	Lost	Won
Jesse Mireles	0	1	0.00			4	0	4	0%
Tony Trevino	124	8	3.88	1		32	23	9	72%
Miguel Lopez	160	12	3.33	1	2	48	36	12	75%
Mark Brown	45	7	1.61	1		28	10	18	36%
Alex Brown	122	12	2.54			48	30	18	63%
Dave Becerra	74	11	1.68			44	18	26	41%
Mike Goodchild									
Jim Horman									
Felipe Macedo									
Rob Hannes (C. Sub)	0	1				4	0	4	
Team	525		2.52			208	117	91	56%

Flanagan's Thuemling

	<u>Pts</u>	Wks	<u>Avg</u>	TR's	8ball	Games Played	Games Won	Games Lost	% Games Won
Jeffrey Thuemling	99	13	1.90			52	25	27	48%
Andres Gonzalez	181	12	3.77	3		48	34	14	71%
Dave Dable	100	8	3.13	1		32	19	13	59%
Doug Douglas	159	13	3.06	4		52	32	20	62%
Nick Ranieri	65	6	2.71	1	2	24	15	9	63%
Adam Anders									
Team	604		2.90	•	•	208	125	83	60%

Blue Ribbon G-Men

	<u>Pts</u>	<u>Wks</u>	<u>Avg</u>	TR's	8ball	Games Played	Games Won	Games Lost	% Games Won
Michael Gonzales	54	9	1.50	1		36	17	19	47%
James Clark	82	10	2.05			40	24	16	60%
Jake Schulster	15	8	0.47			32	4	28	13%
John Barbian	55	10	1.38			40	16	24	40%
Sean Otto	65	11	1.35			48	21	27	44%
Shawn Gust	12	3	1.00			12	4	8	33%
Alex Steinberger									
Tea	m 283		1.36			208	86	122	41%

Sporties Nevarez

Week 10 Not Handed In

	<u>Pts</u>	<u>Wks</u>	Avg	TR's	8ball	Games Played	Games Won	Games Lost	% Games Won
Luis Nevarez	30	11	0.68			44	9	35	20%
Jose Santos	3	3	0.25			12	1	11	8%
Kyle Barnes	6	7	0.21			28	2	26	7%
Niko Sindicic (Dom)	14	5	0.70			20	5	15	25%
Josh Theesfeld	43	9	1.19		1	36	12	24	33%
Scott Minshall	14	6	0.58			24	4	20	17%
Dan Jones	7	3	0.58			12	3	9	25%
Dylan Tenfel	6	4	0.38			16	3	13	19%
Team	123		0.64			192	39	153	20%

l			